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Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
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There are five Section : A, B, C, D and E in this question paper.

Section-A consists of one mark questions from 1 to 20. 1 to 18 are Multiple
Choice Questions, One Word answer, Fill in the blank, True/False and
question numbers 19 and 20 are Assertion—-Reasoning based questions.

Section-B consists of Very Short Ansiwer Type Questions of 2 marks each
from 21 to 25.

Section-C consists of Short Answer Type Questions of 3 marks each
from 26 to 31.

Section-D consists of Long Answer Type Questions of 5 marks each
from 32 to 35.

Question Number 36 to 38 in Section-E are case study based questions of
4 marks each Internal Choice is given in each case study question of 2 marks
each.

All questions are compulsory. However provision of internal choice has
been made in 2 questions of Section-B, 2 questions of Section-C,
2 questions of Section-D, and 3 questions of Section-E.
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SECTION - A

1. Frefefed demst # sty der Aw-d & ?

(A) 16 (B) /36
(©) <48 (D) Vo4
Which of the following numbers is an irrational number ?
(A&) V16 B) 36
(C) 48 (D) 64
2. f= & & 39 Bt it gatTEear # A 7878 ? 1
(A) SSS (B) SSA
(C) SAS (D) ASA

Which of the following is not a criterion for congruence of triangles ?

(A) SS8 (B) SSA
(C) SAS (D) ASA

3. T qwarg B @ T T A 1
(&) 30° (B) 45°
(C) 60° (D) 90°

Each angle of any equilateral triangle is :
(A) 30° (B) 45°
(C) 60° (D) 90°

4. Wﬁ@ﬂﬁawﬁﬂiﬁWSﬁaﬂTl.S@ﬁ%Iﬁ‘gﬁﬂﬁfﬂ'ﬂ'ﬂ‘gwiﬁmﬂﬁ?

g
(A) 3.6cm | (B) 4.1 cm
(C) 3.8cm (D) 3.4 cm

P.T.O.
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4 1
g The length of the third

Two sides of a triangle are of lengths 5 cm and 1.5 cm.
side of the triangle cannot be :

(A) 3.6cm (B) 4.1cm
(C) 3.8cm (D) 3.4 cm
qﬁ%ﬂgﬂﬂ%ﬁ%ﬁ%—i@ﬁwﬁmﬁﬁﬁ,fﬁﬁgﬁwa@ﬁﬂéﬁ%i
(T /37) |

If diagonal of a quadrilateral bisect each other, then quadrilateral is a
parallelogram. (True/False)
@qﬂ(mwhwqﬂ)aﬁweﬁmﬁ%awmﬁwm%z | (B /318 1
Equal chords of a circle (or of congruent circles) subtend equal angles at the
centre. (True/False)
R Bl B @ & ol aXeR §, @ 9% Few ¢ 1
(A) wwarg Bryge (B) g B
(C) wwizsTg By (D) wwHrT B
If two sides of a triangle are equal, then it is called :
(A) Equilateral triangle (B) Scalene triangle
(C) Isosceles triangle (D) Right angled triangle

. 9% F A F A O E 1
(A) m‘zh [B] %‘.‘T?'a
© Zar D) Larh

Volume of the cone is :

(A) wr’h | (B) %nra

(C) g—r:r3 D) "=wrlh



9. @t 100-120 & Tt e §

10.

11.
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(5)

(A) 100 (B) 110"
(C) 120 (D) & & Bg T
The class mark of the class 100-120 1
(A) 100 (B) 110
(C) 120 (D) None of these
Y OIS Ty e © ¢
(A) o (B)
(C) 2 (D) 3
The smallest prime number is :
(A) Zero B) 1
) 2 (D) 3
FRERE! ¥ -
7t e | 0-5 | 5-10 | 10-20 | 20-25 | 25-30
AT 6 12 8 15

1 g B g & RU @t 20-25 # GEERT SRER ©

(A) 6 (B) 12

€ 2 (D) FH & F T

To draw a histogram to represent the following frequency distribution :
Class Interval | 0-5 | 5-10 | 10-20 | 20-25 | 25-30
Frequency 6 12 10 8 15

The adjusted frequency for class 20-25 is :

A) 6 (B) 12

) 2 (D) None of these

2503
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13.

14.

15.

12. x3+3x2+2 % x? & OH ¥ :

(6)

(A) 1 (B) 3

C) 2 (D) & & Pg T
The coefficient of x2 in x + 3x2 + 2 :

A 1. (B) 3

) 2 (D) None of these

x=1TW{CE x2-x+ 1 F 99 & FHOQ :

(A) 1 (B) 2
c 3 2 (D) O
Find the value of polynomial x?-x+ latx=1:
a) 1 B) 2
© 3 . | D) 0

T F AEdT P Bem R ® e

(A) 4nR? (B) 4nR3
(€) %nRs (D) %aﬁ

Volume of sphere whose radius is R :

(A) 4nR? i | (B) 4nR>

©) %RRS D) 2xR3

’

gt ABC ¥ AB = AC iR £B = 70°, T £C TR &

(B) 40° (B) 50°
(€) 60° ‘(D) 70°
In AABC, AB = AC and /B = 70°, then £C is :
(A) 40° (B) 50°
(C) 60° (D) 70°

2503 -
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16. =TTUS 3 G HARD HON H AT © 1
(A) 180° (B) 240°
(C) 360° (D) 300°

Sum of the interior angles of quadrilateral is :

(A) 180° (B) 240°

(C) 360° (D) 300°
17.%%@%%&@1@?,&1%@ ............... ] 1

(A)  FHEGHS (B)

© = (D) ¥ & FIg T

In diagonal of a parallelogram are equal, thenitisa ............... .

(A) Rhombus (B) Rectangle

(C) Square (D) None of these
18. TF & gu@s H & BT ..o B B 1

Angles in the same segment of a circle are ............... .

19. ST (A): 3R V2 =1.414, J3=1.732, T J5 =2 +3. 1
% (R): 909 ST H FgA AT AE B B
(A) (A)@T{R)ﬁﬂm%eﬁt(}z),m)a%aam%m%n
(B) (A)@r(é)ﬁﬂ%‘r%aﬁ?(m,m)aﬁmamqﬁ%i
(©) (A) T & afFT (R) 9 B
(D) (A) 9@ & @ (R) 4 2

2503 P.T.0.
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Assertion (A) : If 3 =1.414, Y3 =1.732, then 5 =2+ V3.
Reason (R) : Square root of positive number always exists.
(A) Both (A) and (R) are true, (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

20. SR (A) : Bl g9 1 o S SE Be @ QN o o6 B, g9 @ A ad B
' % (R) : 56 gu & @ ol offar g9 &1 A e el

(8) (A) IR (R) 3 79 ¥ &R (R), (A) B W& e

(B) (A) 9% (R) a1 & ¥ T (R), (A) F T Frew & B

(C) (A) 64 & W (R) & Bl

D) (A) o ¥ AT (R) T B

Assertion (A) ! A chord of a circle, which is twice as long as its radius, is a
diameter of the circle.

Reason (R) : The longest chord of a circle is a diameter of the circle.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.
-9
SECTION -B

21. 1@12%%%%#@7%@%@

Find five rational numbers between 1 and 2.

2503



22. W FRT: (3++/3)(3-3)

23.

24.

25.

26.

2503

Simplify : (3 ++v3) (3 -+/3)

OR
T $OW : (32)5
1
Simplify : (32)5

1
. =T F B H IRAFHET Hio

Rationalise the denominator of . o
J7 =2

103 x 107 & "9 319 B

Evaluate 103 x 107.

k F A ST HIC AR x- 1, Ax) F PTEYS & Pl = 2x? + kx+ V2.

Find the value of k, if x— 1 is a factor of P(x), P(x) = 2x2 + kx + /2.

SIE]
OR

Wnﬁ#@x2—5x+6wmﬁﬁqf

Use the factor theorem factorize of x? — 5x + 6.

qug -7
SECTION - C

TGS T - 2x°% + Tx+ 3

Factorize : 2x%+ 7x+ 3

2503
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27.®ﬂ¢ﬂﬁqﬁ%ﬁa@3aﬁ%wﬂwﬁﬁﬁwﬁﬁﬁaﬂﬁ? 3

A hemispherical bowl has a radius of 3 cm. What would be the volume of water
it would contain.

CLE
OR

W o B E N A A9 i, AR B S 21 e A 3 SR HOA™
24 AT B

Find the total surface area of a cone, if its slant height is 21 m and diameter of
its base is 24 m.

28. TIETS FR : 3
64x° - 343y°
Factorize :
64x° - 343y°
29. FHHEON 2x+ y=7 B §F B & 51 3

Find three different solutions of the equation 2x + y = 7.

30. k F HNM T HINC, R x =2, y=1 T 2x + 3y = k F TF & 2 3

Find the value of k, if x= 2, y = 1 is a solution of the equation 2x + 3y =k

31. @S FHMMC : 8x> + y® + 2723 - 18xyz.
Factorize : 8x° + y® + 272° - 18xyz.
S7erar
OR
SUGF IR B AT FEH (999)° F WA 5 Fifory

- Using suitable identity, find the value of (999)3,

2503 “
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SECTION -D

32. g ¥ Y@l PO o RS W Brg O W ufede & ¥ AR ZPOR: ZROQ=5:7 %,
B0 B G A e 5

R Q

In fig. PQ and RS line are intersect at point O. If ZPOR : ZROQ =5 : 7, then find
the all angles.

33. IR & fag C A fgelt A ok B 3 dw 3w mR fam R % AC = BC R, @ = %It
AC=%AB,%HWH‘T§IEQI 5

If a point C lies between two points A and B such that AC = BC, then prove that

AC= %AB, Explain by drawing the figure.

HYEr
OR

R & @l XY AT MN, O T ufeede & 81 A LPOY=90° R a: b=2:3 &, &
c &AM TG Hio

2503 P.I:0.
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34.

35.

36.

2503

In fig. lines XY and MN intersect at O. If ZPOY = 90° and a : b=2:3,find c

T RS @ dea s @i e et 40 i, 24 i ofw 324 2 5
Find the area of triangle whose sides are 40 m, 24 m and 32 m.

LC

OR
Iq @9 g G @ ST T S R Brew 6 # ofR S 7 & B

Find the volume of a-ri.ght circular cone whose radius 6 cm and height is 7 cm.

Zuie P o e & et e @ 2 ¥

Show that diagonal of a thombus perpendicular to each other.

o

qUE - &
SECTION -E

e et Frefafad et & Swe A

(i) B % fam

(i) P (-3, -5) &0 vEEE T fag)

(i) (a) frg D F 951 a4 BFg H H FfT a1 it
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ST !

(b) ST ¥ YErEUE BD B X-O B G F A A FAAG qA ol 2
Y

1

}6
-—5
14
--—3
& (R et kit ! D
: 1
S M — bt ——+—>X
X % 5 4 8 210 1 2 3 4 % 6
: ; T -1 : E
! T2 | !
gt mmenns i . E
B e
R e 7 TR S e L R e iC
- . Y-'
See the fig. and answer the following questions :
(i) The co-ordinate of B.
(i) The point identified by the co-ordinate (-3, -5).
(i) (a) Find the abscissa of point D and ordinate of point H.
OR
(b) Find the area of rectangle formed by the line segment BD and X-axis
in fig. Y
+6
{5
-'—4
43
L R D
M T!
X~ %5 5+ p 29 1 ¢ 35 4 5 & %
I ' s :
1t
Jbemmmeny fr s o g E |
EL """""""" et et B T i JIC
ol

L4 P.T.O.
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37. FmI % foq wdelax & Bchw e @ dart & SwEnT fear T B ﬁalﬁaﬁ-g—;rm
122 A1, 22 #eX R 120 #ex ¥ Ramoe & oy af 5000 593 97 @2 B FE &
2l

TR A ol f T ey B amaR W R gedt 3 ST AR

7

(i) &R F 9REY TG Hife 1

(i) &M # g fafaw | 1

(i) (a) PrgETER dar @ &o @ Fdmw 2
argar

(b) R T 1680 T Hex d=%a Al UF AR F 3 WET B B e 07 A

R, o Iq R R 3 A 2 p)

The triangulér side walls of the flyover have been used for advertising. The sides

of the walls are 122 m, 22 m and 120 m. Earning of Rs. 5000 per m? per year
from advertisements is.

On the basis of the above information and given figure, answer the following

questions :

(i) - Perimeter of Wall is .......cuv0 .

2503 "
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(i) Write down the Heron's formula.
(iii) (a) Area of triangular wall is ............. :

OR

(b) If company hired one of its walls with area 1680 m? for 3 month, then
how much rent did it pay ?

38. 1 IX & w BAN wvE 4, 40 oF A T o W B A F W W O A o
afwet & frg Fr=fafea e e Bear @ o

Ru 1 45 s & 3 ol Frfefes get & IEv AR

AN

frenfat it deam —»

= N W s o O
——t—

() TR W F R Rl & = gen ? 1

(i) o 7@ 7 qa ot ReniEt & s g ? :

(i) () T HEA & A O 4 FeniiE @& s gen ? o
e

(b) % @ o & 49 Va1 U wE A Hw wEw s A | 5

P.T.Q.
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In a Particular section of IX Class, 40 students were asked about the n;t)‘mhs of
their birth and the following graph was prepared for the data so obtained :

Observe the bar graph given below and answer the following questions :

AN

(4B o N
———

Number of students —
W &
E

L
L L
T T

W

Month of birth

() How many students were born in the month of Novemeber ?
(i) In which month were the maximum number of students born ?
(ii) (a) Name the month in which 4 students were born.

OR

(b) Find the total number of students born from May to August.



